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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.
. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory,
. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open bnoElet_

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(i1i) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on

the correct response against each item.
Example: (AD @ (T (D> where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your
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response at any place other than in the gval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except

for the space allotted for the relevant entries, which may disclose your identity, or use abusive ianguage or em}ﬁloﬁr any
ggher unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
isqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and

must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

- In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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HOME SCIENCE

Paper - II

Name the Vitamin whose structure
closely resembles that of a
monosaccharide.

(A) Vitamin D
(B) Vitamin C
(C) Vitamin A
(D) Vitamin B

The viscosity of a liquid increases due
to the presence of

(A) Suspended particles
(B) Soluble particles

(C) Small sized particles
{D) Large sized particles

. It is important to have the same

portion served for sensory evaluation
of each sample because

(A) Different amount may not lock
aesthetically pleasing

(B) Different amount may affect the
appetite of the tester

(C) Different amount served may
affect judgement of the tester

(D) Different amount may incur

wastage of the food product
served

. Bitterness is due to which

substances present in food ?
(A} Alcohols

(B} Acids

(C) Alkaloids

(D) Anions

- Yaitdloll Gelotictt

1. QaiRote] otti Quel Boll et

HellAsASs Bl & ?

(A) (Q2l@et D
(B) [Qalblet C
(€) [QeRet A
(D) (Q2lfeot B

o{l slsdflal
520 <l 8,

(A} UGl 580

(B) wlcal sQ0

(C) olioll SEell 5L

(D) Wet seait 5Ll

. RAUE HERUSoL oll E35 ot¥oll HIZ UMl

AL AUl Hecayyl B s1QLE

(A) ogel et ol UsHs cllotal otefl

(B) et el eltol udlaisell ouist waR
TR

(C) dauctHl vuadl (QAu 251
udlatsetl Ysielal wAR 53 a¥ B

(D) UMl wclcll %EL YEL QUL
ulel A ousl Ak ®

. wlRUsHL s ueldl ssatal M2

AALKLELR 8 ?

(A) WS EA
(B) AR
(C) wuesAlS S

(D) Aoll20et
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5. One of the following products is formed
due to high temperature frying
(A) Melamine
(B) Biogenic amines
(C) Acrylamide

(D) Mycotoxins

6. Oxymyoglobin imparts color
to meat.

{A) Light to dark red

(B} Greyish pink

(C) Bright red color

(D) Cherry red

7. Anidentifiable point in the production
chain where a food hazard may occur

and can be controlled is
(A) Hazard
(B) System
{C) CCP
(D) CP
8. In which type of food service the

customer turnover is faster ?

(A) Waiter service
{B) Self service
(C) Both waiter and self service

(D) Floor service

5. afall diunlal dacat s1Q
ol Aol A5 Geuleal U B

(A) ActHLSet
(B} oll2dR@s AHIS L,

(C) AglHesss
(D) 82 sAat

6. AUERVAR A, Hiuat L W B,

(A) €2 Gl

(B) 2wvlsl el
(C) Al cuct 23t

(D) AN clcd

7. Geuleel sl Als Aol asta dAg

(g »2l vilse] BuH us o4b B,
Ul (2Bt 531 asla B

(A) oglun
(B) dlzen
(C) CCP
(D) CP
8. sl ysioll g5 A(duml Aese]

eolullell sl & 7
(A) dse? Acl

(B) el-Aall
(C) AS22 o Aces Ul oia
(D) sz Acal




9. Purpose of a research study can be 9. aglltel WML Enj adl asta 8 -
given in (A) DASIA) usWL

(A) Methodology chapter
. ) (B} adL ys2wtell ulau
{B) Review of literature chapter
(C) As rationale of the study (C) meuett b 3

(D) Bibliography (D} sjauy

10. Which labels on the front-of-pack | 10. sl ggleoi AW, G, HEH ua

provides information on high, medium el e, Adret wRell, ak2 waual
and low of fats, saturated fats, sugars &R @A Hldl yil wd 8.
or salts ? A) aBs e
(A) Traffic light
(B) Wug
(B} Nutrition
(€C) Color (©) =2
(D) Brand (D) cited

11. What are planned arrangements in | 11. 1241 2R catcizeux 9 sdauad & ?

2 .
a store referred as - (A) HLOWAL fla aoe

(A) Structural storage '
_ (B) staAlas aLe
(B) Functional storage
(C) Designer storage (C) Stz @17

(D) Convenient storage (D) uegsn He

12. Which of the following variables would | 12. oflQettdisfl sail AL dglus weA Hol

the researcher want to manipulate to uReiH uR 8RB U sal HIR
have the intended effect on the result YLEALSL sa HA B ?
(A} Extraneous .
(B) it
B} Independent
(C} Bl

(
(C) Dependent
(D) Intervening (D) e o103l
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13.

14.

15.

16.

About half of our plate should
contain

(A) Cereals and pulses
(B) Cereals and grains
{C) Vegetables and fruits

(D) Grains and nuts

The amino acid that plays a central
role in control of overall amino acid
metabolism is

{A) Glutamate
(B) Lysine

(C) Aspartate
(D) Cysteine

Which of the following is not a
nutritional status indicator in
nutritional surveillance ?

(A) Type of malnutrition
(B) Food insecurity

(C) Population suffering from
malnutrition

(D) Acute or chronic malnutrition

The person is said to be having
impaired glucose tolerance when

(A} 2 hour Plasma Glucose
140-199 mg/dl

(B) Fasting Plasma Glucose
100-125 mg/dl

{C) Fasting Plasma Glucose
<100 mg/dl

(D} 2 hour Plasma Glucose
<140 mg/dl

13.

14.

15.

16.

wHFL WAeHl (oledl AUSsHL ewal Slat
LN

(A) el VA 580

(B) ooy

(C) auseld el Sol
(D} wloties wal GELH

AR ARS ® WseR AMA AR

AAUUAsAL (Aol Fodla st
Mxa B

(A) ez
(B) cAtSRet
(C) Auuee
(D) Rt

o(lAotiuiell 53 Wue FRdlaei Wt
RAE yus ool ?

(A) sUluRlell UsIR
(B) Vilel w8
©) suugel dstdl axdl

(D) {lg waal sAs e

c(FAa o810 ABWYAL oAcoll flaie
s&clld B AR :

(A) 2 secUs WML X8R
140-199 mg/dl

(B) Actell epuau uedl ogfslos
100- 125 mg-dl

(C) nctell epuen uedl o5l
<100 mg/dl

(D} 2 SEL5 WALBHL 2651
<140 mg/dl
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17.

18.

19,

National Rural Health Mission

(NRHM) was launched in which year ?
{A) 2005
(B) 2018
(C) 2007

(D) 2012

Which of the following is commonly
used as an adulterant in mustard

seeds ?

(A) Caraway seeds
(B) Poppy seeds

(C) Argemone seeds

(D) Dathura seeds

Which of the following commonly

called emergency gland of body ?
(A) Thymus

(B} Pituitary

(C) Testis

(D) Adrenal

17.

18.

19.

Al oyl reurea Asott (NRHM)
aul 23 sl il sdl 2

(A) 2005

(B) 2018

(C) 2007

(D) 2012

o{lAotmiel]l 52 Ml T HRUAAL
elUHl AOAN Ay quAA B ?

(A) 32 ofle
(B) wuWy
(C) Bt ofloy

(D) ElcgRloll ol

Al AeHidll 58 wHLleA A 2ALlReAl
sel58l il sdaua & ?

(A) sueHY
(B) SHULES
(C) 9u8L

(D) AZatct
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20.

21.

22.

23.

A test that measures rancidity in {ats

is called

(A) Acid value

(B) Peroxide value
(C) RM value

(D) lodine number

When two, usually vertical monomer
combines in an end-to-end fashion
without liberating any by-product on

polymerisation, it is known as
(A) Subtraction polymerisation
(B) Cross polymerisation

{C) Condensation polymerisation

(D) Addition polymerisation

When fibre is removed by scrapping
away the pulp material, the process

is called as

(A) Decortication
(B) Pulping

(C} Scouring

{D) Wetting

The major internal costs of a garment
production in a manufacturing unit
is incurred in the

(A) Packaging department

(B) Sewing department

(C) Cutting department

(D} Quality control department

20. s3f 222 uRo{lMi WABZL U B

21.

22.

23.

B) AAls e

(B) Qs Hed
(C) RA;H HEL
(D) wASlot Avll

»2UD A, AuHle2 A Glell HlelH LS

Aetatd Yt sl Qo DelluRSBUot

WoS-g-Wed Aol HL WSl 8, Aol
(A) siteoitl WelHnseast

(B) sl WellHAS%eLet

(C) uolls20l(condensation)
el Reot

(D} GRRWUAddition)WcllHASBU

or2q2 U UHYlA Bu sdla s
£2 sclHl WA B, A ylBaua decunl
d B

(A) S181R&¥ et
(B) ucdlal
(OECIER

(D) Qélat

Nozy¥suRot YEl2Hl sUSLell GllEetoll
Hul WidRs wal s QewoHl wa 8 ?

(A) QoL (deuat
(B) Alag Qe
(C) sRot [Qeual

(D) dRleidl (eiael [Qewat



24. Sungdi saris traditionally in India 24, UIU2Ild MlRdHl ﬁotﬂ AN
were

(A) R¥etQes

(A) Screen printed

. (B) Wz WNe2s
(B) Resist dyed
(C) Block printed (C) cclls [Qa2s
(D) Rotary printed (D) QA2 Mo

25. fabric is woven from 25. stus Yapclld AYAYS

regenerated cellulosic fibres. ccguAl ol ague A B,
(A) Jute (A) *Ye
(B) Cotton (B) sleot
(C) Cambric (C) 3Gas
(D) Viscose rayon (D) (Qeslu Yadlet

26. Fibres that have an extension at | 26. § dldQll.bﬂH'l QAU N52208l01 200 %

break greater than 200% and also ol ay 8l a Acllos awa @ ded
have the property of rapid recovery Yot: 35Ul dsadl o Jet YA B, AA
when the extension is released are 9 sdallal ?

known as

(A) Vinyl (A) [@Qeuse

(B) Polyolefin (B) WellAAglot

(C) Polyamide (C) Wellalaess

(D) Elastomeric (D) $ARABs

27. The function of an eye of the needle | 27. A2t ofl Wi o 512 9 R 2

is to (A) suUSL HLYX

(B) Carry the thread (B) £llaad Adl

(C) Clamp the needle (C) AWatal usssHLAdl

{A} Penetrate the material

(D) Hold the fabric (D) 51Us A USSY
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28, The theories of fashion adoption did
not include
(A) Downward flow
(B} Horizontal flow
(C) Upward fiow
(D) Outward flow

29. Which of the following is not a

garment detail ?

(A} Fabric width

(B) Neckline treatment
(C) Fabric texture

(D) Embroidery

30. Modular production system involves a

group of people who set their

own standards and work together to

complete a finished garment.
(A) 4 -7

(B) 4-14

C) 7-17

(D) 14 -17

31. Traditionally which of the following

embroidery was worked by counting
the threads of the base fabric ?

(A} Sindhi taropa
(B) Phulkari
{C) Chamba
(D) Kashida

28. Yatot auaticlaol Ll M
AHLAe o2l udAl.

(A) o{lA c2sell ycus

(B) LSl yeus
(C) GuRell yalls

(D) ollEl Yelld

29. loi@ulldt Higll 56 ct ofl floict otell ?

(A) stus ol uglous
(B) 2w ugl gleRee
(C) stusoll 2atuR

(D) & st

30. 1Qsyctz Ulssalet flemmi — clslaul

ool WHIAY A2 & Bl Welloll WG
olsgl 52 B, ol all A U8 YRL5RU
HIZ 5LH $2 B,

(A) ¥-O
(B) ¥-1%
(C) 9-19
(D) 1¥-19

31. wuwdld Ad ol Aol Hiell 53 dctsH

A% slusetl El2lefl dlddl sAa sa
Al & ?

(A) el aAw

(B) gctsiil

(C) Al
(D) sellel

B
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32.

33.

34.

35.

The process where the pattern is
scaled up or down in order to adjust

it for multiple sizes is known as
{A) Pattern design

(B) Production pattern

(C) Grading

(D) Marker making

The vertical column of loops which
runs parallel to the length of the

knitted fabric is known as
(A) Course

(B) Warp

(C) Wale

(D) Weft

The dyes which are applied to the
fabric in the colourless reduced state
and then oxidised to coloured state

are known as

(A) Azo dyes

(B) Disperse dyes

(C) Tri-methane dyes
(D) Vat dyes

Manufacturing of polyester is done
by using

{A) Melt

(B) Dry

(C) Wet

(D) Solution

spinning.

32.

33.

34.

35.

Uls 5E HIR WIAFN Glailacll SAR W
Uzolal GUR waal oA el sausll
ugld A 9 sdaua 8 ?

(A) Qeel Slnieat
(B) Wssolel Weal

(€C) A3at
(D) 2 A3

el Gell Sl B d)Act ¥asell
Aol UMIAR WA B Axl g 56 B ?
A) sld

(B) aid

{C) Ad
(D) dse

%A SLEP SLUS A 562 AU ILSYrS
YRERAM Hi clousaiHl wd B ua
RUIGUE 201l HIZ vsAlsteS RS salml

AUA B Al — sdau d.
(A) VA IR

(B} slual st
(C) 2 {1Aot st

(D) de s

WellAe? of Geulgst Aleollotell
GuLL 53l sRclHl wa B,

(A} Ace
(B) gl
(©) A2
(D) dley2al
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36.

37.

38.

39.

In Gujarat, double Ikkat technique
is used to weave

(A) Asavali textile
(B) Bandhani textile
(C) Patola textile

(D) Paithani textile

Which of the following is a ‘straight
hand twist’ to form a yarn ?

(A) C - twist
(B) O - twist
(C) S - twist
(D) Z - twist

When methyl orange is added to
cellulose ; an orange-red colour
is obtained which changes to red
on addition of brine, indicating
presernice of

(A} Carboxycellulose

(B) Crystallized cellulose
(C) Oxycellulose

(D) Hydrocellulose

Suneceta is conducting a study to
understand home makers choices
with reference to use of cleaning and
disinfecting products to keep their
home clean and germ free, on a large
cross section of population, using an
online questionnaire. Which type of
research will her study come under ?
(A} Historical studies

(B} Survey research

(C) Experimental research

(D) Action research

36.

37.

38.

39.

91%RActH, SUA Bs5ct 250lls ol Gullat
SRULSIUSell ol Hi2 ARL Y ?

(A) waadl zasad

(B) wiugll 2a2i8¢

(C) ulol 2218

(D} dael 2a218a

ol Botiell st aed totictall W Al
slusll anis & ?

(A) C —anis

(B) O - anis

(C) S —auis

(D} Z — cAOis

wAR ARAPHL Radel vRe%
GRReuul A & o2l ¥ cicd
390 HAL B el AHl olieSet Anaatefl

A e ML secusA ol Al
altoll elordl woUd B ?

(A4) stollsAARIAR
(B) Sleclsns ARIALR
(C) s Acycln

(D) sl QACRAR

ojfdgflll Welloll el 29 Vol

el AUl HIZ B UHES e
fellals Geulat ciuR B doll MeA

sl W2 Hl2l sla Aseiet WRjAel
Gu? A Al yYsledl Guallol
s3lal slustel 53l 24l 8. A

Sl Ysle] used 53 8 B 2

(A) BRBsc sl

(B) ud dud
(C) AsUARed A

(D) Wsalot I
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40. Null hypothesis are the statements
about
(A} Unknown population parameters
(B} Known population parameters

(C) Probability of making the error

(D) The boundaries of research

41, If a conflict arises during group

decision, following can be done
{(A) Prosecution

(B} Compromise

(C} Request

(D) Compulsion

42. One of the following is not a part of
the controlling step of management
process. Identify it.

(A) Checking the progress of work
(B) Adjusting the plan

{C) Mental listing of activities

(D) Energizing

40. o sl IR (YAURRU) o] 2t 9
(A) WU WRjALel oll YRR
(B) ostellcl WeAstletoll LR

(C) et sRclloll AsaAl

(D) elusta] ol Al

41. uye Hi gl Acdl awa o Hddle

Aol &t Al oA el A wuetdl
sl B.

A) sRane s2dl
(B) dHLllol 52

(€) [Qeidl st

(D) swexcdl s2cll

o(lA v Higll As 3 AAxRee
YAA ot 52lellot watettoll euot o8l
RGENME

42,

(A} st ofl yould usiucll
(B) loell of Ao 54

(€) s oll WiatRls ugll sl

(D) 2l etas 529
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a4,

45.

46.

Pick up the odd one from the
classification of resources.

{A) Economic resources
(B) Motivational resources
(C) Tangible resources

(D) Non-human resources

Resources that have potential to
last indefinitely and can be almost
replenished through relatively natural
cycle is known as

(A) Non-renewable resources
(B) Conventional resources
(C) Renewable resources

(D) Exhaustive resources

Assertion (A) : Budget helps a family
to live within its income.

Reason (R) : A budget forces the
family to decide its priorities while
planning for expenditure.

Codes :
{A) Both {(A) and (R) are correct
(B} Both (A) and (R) are not correct

{C) (A) is correct but (R) is not
correct

(D) (A) is not correct but (R) is
correct

A situation or device that replicate
job performance actually done at the
job site is known as

(A) Simulation

(B) Brain storming
(C) Job specification
(D) Job ranking

43.

44,

45.

46.

ALl ot adllsel uidll
VAU dot) & 204,

(A) B8l-lMs
(B) Hdlagleet
(C) E(Brud
(D) ollot-g)Mot

% Aultloll Gicl JUOU HIE SRS
23clloll &Hcl AW B Wal Foll
yislds Us gL Yoty sua

O A g sdaa 8 ?

(A) sdlell o wofl 2% Aat (Aot

Reydloict) dAet
(B) URUROLA (Selotlolcl) dulilel

(€) s3lell woll a¥ AaRoyReiet)

AUt
(D) (Qadct (AsAR ) ALYt

wst (A) : As uRBarra age Al

viiasel Ml ¥l HEE 52 B,
5REL(R) @ YRalzal wBe Bl
v otsfl sl cwd Ul o5t
scll HI2 LRl 82 B.

8ls:

(A) (A)ual (R) ol WL B

(B) (A) Wal (R) oiad vllel &

(€) (A uz W (R) Wi 8

(D) (A) WIg ¥ (B) W3 &

s W Al WRRAA ¥ Guswl

o2l WRUR SIH SRclle] 8l Aol ylasld
Gell 52l AR [rc@Mlc sdcwml
uLd B.

(A) RuzAsiat

(B) @eSai 22\H{loL
(C) Rl RGBS 2t
(D) %ot 33t
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47.

48.

49,

The World Consumers Rights Day is
celebrated on the following day

(A) 15% March

(B) 8% March

(C) 24 December

(D) 14% November

Consumer Protection Act, 1986 was

replaced in which year ?
(A) 2009
(B) 2010
(C) 2017

(D} 2019

Where no provision is made by
contract between the partners for the
duration of their partnership or for
the termination of their partnership,
the partnership is known as the

following

(A) Partnership at will
(B) Double partnership
(C) Particular partnership

(D) Partnership for a fixed term

47.

48,

49.
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50. A sampling technique in which one

sample leads the researcher to the

next sample is known as

{A} Snow-ball sampling

(B) Systematic random sampling
(C) Cluster sampling

(D) Stratified random sampling

51. The “Golden Oblong” has the

following ratio
(A) 1:5

(B) 2:8
(C)2:3
(D) 1:3

52. In prang colour system, use of Yellow,

Yellow-Green and Green colours on
a colour wheel makes the following
colour scheme

(A) Analogous

(B) Monochromatic

(C) Split-complementary

(D) Triad

53. While planning a residence, when

rooms are arranged with respect to
their relative position and activities
towards each other, it is known as

(A) Isolating
(B) Segregating
(C) Circulating
(D) Grouping

50. @ JulEo usldxl As Aua ol
Auct ofl wesidl adusdl A 2l B
del sdalal g
(A) el AulAat
(B) ReRdls o1 Aulcdot

(C) scier Yuldal
D) wRss s Auldot

51. “O0cSol WAL Ui FlsildMd Yyl
&l B
(&) 1:5
(B) 2:8
(C)2:3
D) 1:3
52. yiol scR dlen Hi 290 ysHl oy,

YAl-clldl v cletl 20tell Guallat
saciell 58 20 allogoll dauR Rl 8?2

(A) Vetlello

(B} el 5108l

(C) Gtz -shelliedl
(D) 2LAS
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54. Pickup the good features of bothrooms
for old age peopie.

(i) Toilet seat with 30" height

(i)} A tight fitting glass door for wet
area

(i) Flooring tiles with matt finish
(iv) A stool to sit
(v} Emergency alarm
Codes :
{A) ), (i), (iv)
(B) (11), (ii1), {iv)
(C) {ii1), (iv), (v)
(D) (i), (iv), (v)

55. Full form of LEED stands for

{A) Local Environment and Energy
Department

(B) Leadership in Energy and
Environmental Design

(C) Low Energy and Environment
Development

(D) Legal Energy and Environment
Department

56. The rating given by Bureau of Energy

Efficiency (BEE) on the appliances/
equipments is

(A} Percentage
(B) Alphabet
{C) Brown or Green dot

(D) Star

54. qg clsloll (lLUAZH HI % ARl A&t/
A 8lefl HFA A wwudl

(i) 300 Qe ol Qade dl2

(i) ellotl Qaclz ol sl atSe-(3RoL
sLell £cllo)

(iii) He (llarcunu ety
(iv) el xR R

(v) selsdl (SHwer{l) vt
815 :

(A) (1), (iii), (iv)

(B) (i), (iii), (iv)

(C) {i1i), (iv}, (v)

(D) (1), (iv), (v)

55. Act.s.d.L(clls)o Y3 oun B
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57.

58.

59.

Climatic factor that does not affect
the worker’s body within the house
is as follows

(A) Air quality

(B) Surface texture

(C) Sound in the background
(D) Humidity

Assertion (A) : Application of
ergonomic principles maximises
worker’s safety, efficiency and

comfort.

Reason (R) : Ergonomics is referred
to as the science of “fitting the

environment to the user/es”.
Codes :

(A) Both (A) and (R) are wrong
(B) Both (A) and (R) are correct
(C) (A) is correct but (R) is wrong

(D) (A) is wrong but (R) is correct

A horizontal band, generally made
of wood, several inches wide, placed
at the top of window to conceal the
curtain top and rod is known as

(A) Sill

(B) Cornice

(C) Awning

(D) Apron

57.

58.

59.
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UR % uRun AuR ol sl
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60.

61.

62.

To gather in-depth information from
rural women, following tool of data

collection is most appropriate
(A) Interview

(B) Questionnaire

(C) Psychometric tests

(D) Sociometry

At birth the head is the total body

length, whereas in the adultitis

{A) One-fifth; one-eighth

(B) One-third; one-sixth

(C) One-fourth; one-seventh to
one-eighth

(D) One-fourth; one-eighth or

one-ninth

The pandemic is at the

level of Bronfenbrenner’s ecological
systems, impacting

(A) Microsystem; all other systems
{B) Exosystem; microsystems

(C) Macrosystem; all other systems

(D} Mesosystem; exosystems

60.

61.

62.
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63.

64.

65.

Which one of the following is best
suited to promoting gross motor
development ?

(A) Crayoning

(B) Playing in the sandpit
(C) Using the jungle gym
(D) Building with blocks

Identify which one of the following
statements is false with regard to
achievement-oriented vs. mastery-
oriented students.

(A) Achievement-oriented students

tend to believe that their

difficulties indicate low abilities
(B) Students in mastery-
oriented classrooms find the
expectations too high and
become discouraged
(C) Mastery-oriented students
engage in deep learning and
enjoy intellectual challenges
Achievement-oriented students

are less likely to deal effectively

(D)

with failure

A few children suffer brain damage
during childbirth due to anoxia.
What does anoxia refer to ?

(A) Maternal malnourishment
(B) Congenital abnormality
(C) Oxygen deprivation

(D) Meconium aspiration syndrome

63.

64.

65.
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66.

67.

68.

As per research evidence on child

abuse in India, which one of the

following is false ?

(A) Parents are the most frequent
perpetrators of physical abuse of
their children

(B) In very few cases of child sexual
abuse, the abusers are known to
the child and are in a position of
trust and responsibility

(C) Every second child faces some
form of emotional abuse

(D) Peer influence has been found
to be the strongest predictor of
adolescent smoking

There is an increase in depression
and anxiety among adolescents
during the pandemic. Which one of
the following is not an indicator of
depression among adolescents ?

(A} Increased sleeping and eating

(B) Indecision and lack of
concentration or forgetfulness

(C) Withdrawal from friends and
activities

(D) Ability to accept constructive
criticism

Identify the statement that is

false with regard to cognitive

development in middle adulthood.

{A) There is evidence of
neurogenesis

(B} Practical thinking skills
increase

(C) Expertise has the potential to
increase

(D) Inductive reasoning decreases

66.

67.

68.
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69.

70.

R e TR

My friend, who is 78-year-old,

is considered to be an example

of successful aging. Select a
statement that best describes her
characteristics.

(A) She is healthy, practices yoga,
writes poetry and organizes
events for children in the
neighbourhood

(B) Although she is not very active
socially, she is physically active
and does not have any illness

(C) She is optimistic and has a
positive mindset despite having
a few health problems

Her contributions to the work
sector are now absent ; she
misses being cognitively active
but cherishes her attachment
to her grandchildren

(D)

Identify which one of the following
is false with regard to proximal
and distal variables that explain
socioemotional competence.

(A) Parental emotion-focused
coaching as a proximal variable
and socioeconomic context as a
distal variable

Child’s coping with peer conflict
as a proximal variable and
overall school quality as a distal
variable

Parent’s own socioemotional
competence as the proximal
variable and the frequency of
crime in the neighbourhood as
a distal variable

Socioeconomic context as a
proximal variable and emotional
climate in the family as a distal
variable

(B)

(€

(D)
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71.

72,

Which one of the following

characteristics does not fit

the notion that “Marriage in

contemporary India is a melting pot

of tradition and modernity” ?

(A) Though young people prefer
self-selection of spouse, parental
consent remains important

(B) After marriage a woman’s place is

in her husband’s home and it is

the wife’s duty and obligation to
fit into the customs and traditions
of the husband’s family

(C) Marriageisviewed asarelationship

of equality and companionship,

yet traditional values of respecting
elders remain prominent

(D) Traditional marriage rituals

are considered important but

are altered to suit modern

circumstances

Institutions providing protection
services for street children focus on
many objectives. Pick the incorrect
statement from the following.

{(A) The street children must be
provided positive role models
and taught to refrain from
substance use

Utmost care must be taken to
ensure that street children are
protected from sexual abuse and
other forms of exploitation

(C) These children have left their
families and efforts to reintegrate
them with their families must be
avoided

Efforts need to be geared to
enrolling street children in
schools and also to organise
vocational training programmes

(B)

(D)

71.

72.

U sle{lol GURAHL Aol URURL el
YRS ALell dctetalal el B Al
sCUotlHl ol Aouniell 53 e
WARL B 7

(A) Yeliol ALBL Waatdiellell -

yeollat ude 52 8, dd od
HLARlell A 1oy 2% 8
et ugdl alloj 8ot Aotl uldetl
Ml A B, U uldett uRcuretl
Baesl AURA WuAHL Bz 23aell
Yeolloll §2% ol wcleeldl & .
Gioolal AHLelcl Ul AsAIsL AolY
Ay A vd B, dAH Bl

ASIAlA Hiot BLUCHell URURLSLA
yell 2Rt 2% 8.

(D) URURLA Adstoll [QRRA Heetoll
HiotallHl 24Q B el uLylis
AR Uef3U EAL B

(B)

(€)

A9 sunsl w2 yrew Aard YA wsdl
Aol yoeu GEall UR tailel ¥ohd 52 8.
aflRotiutiell vl Qe urle 52,

(A) Aot stlnBlal &51AcHSs At W3A
wug AU wa atellenuetddal
Gualatell g2 éclsf elluag AR
Adloll s st ostedlal Auyl wat
Ul Yst2eil Al YA & Al
wicdl sal 2 ueid sty Adl

ae5 ]
L WS AHeluRat Sisl €l

8 wal Axa Axell Wl wd 53l
S clloll YA 2kl aesul

Aol ol stal WOUHL ELWE Sl
UR cucU@s dAdli sielsilg
VA% Sl HEE Ykl sclioll
%3 8.

(B)

(€)

(D)



b

73.

74.

Which one of the following is not a
ground for divorce in consonance
with Hindu Marriage Act ?

{A) Partner has renounced worldly
affairs by entering a religious
order

(B) Partner has not been heard of or
seen around for five years and is

presumed dead
(C) Either partner living in adultery

(D) Mental and physical cruelty at
the hands of the partner or his

family members

Pick a statement about parenting
that does not align with research
evidence from Human development/
related disciplines.

(A) Father’s involvement is beneficial
in promoting school success and

social competence in children

{B) Insecure attachment of infants
makes children anxious and less
likely to engage in exploratory
behaviors

{C) Mother’s employment impacts
children’s development in an
adverse manner

(D) Maternal emotional unavailability
in childhood is associated with
children’s depressive symptoms

and school problems

73.
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75. Following are the characteristics of

dysfunctional families. identify the
odd one out.

(A) A dysfunctional family has only
a few rules, accepted by each
family member

{B) Communication is blocked and
distorted in a dysfunctional
family

(C) Pleasing and distracting are
common responses to anxiety
provoking situations

(D) Parents have low self-esteem and
view children as an extension of
their own selves

76. Family therapy teaches effective
communication in the family. Which
one of the following is promoted in
family therapy ?

(A) Talking of “shoulds” and

“oughts”

(B} Repeating the expectations you
have of the other

(C) Talking about all past incidents
of the same type

(D) Displaying thoughts and emotions
which match inner experience

77. Presented below is information
pertaining to women’s status.
Identify the incorrect statement.

{A) As per statistics, 40% of married

women face some form of domestic
violence

(B) Women do more unpaid care
work than men

(C) Women have not been successful
in managerial positions

(D) Women own less than 20% of the
world’s land
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78.

79.

With regard to privacy and ethics of
counselling, identify which one of the
following is faise ?

(A} The client must forego their
right to privacy if they wish to
be helped and share every detail
with the counsellor

(B) Counsellors must seek private

information from clients only
when it is helpful for the

counselling process

(C) Confidentiality is a general ethical

requirement in counselling

(D) Counsellors share information
with third-party payers only
when clients have permitted such

disclosure

Developmental assets promote the

health and well-being of youth.

Identify which one of the foliowing is

not a developmental asset.

(A) Safe and caring home,
neighbourhood and school
environments

(B} Youth devote all their time to their

studies and are not given other

roles in the community

Youth spends some time each

week on creative activities of their

choice (e.g., music, theatre, other
artsj

Youth has positive adult role

models over and above his/her

parents

(C)

(D)
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80.

81.

82.

83.

84.

In a normal distribution, mean + 2
standard deviations covers at least

{A) 75.5% of the values
(B) 68.3% of the values
(C} 99.7% of the values
(D} 95.4% of the values

Which one of the following is not
a characteristic of home science
extension ?

(A) Multi disciplinary approach

(B) Two way process

(C) Results are intangible

(D) Commanding approach

In a communication message, when
you explain the reasons for giving up
old one and adopt new one, which
factor you are considering ?

(A} Simplicity

(B) Clarity

(C) Appropriateness
(D) Timeliness

Teaching skills can be developed best
through

(A) Brain storming
(B} Micro teaching
(C) Team teaching
(D) Tutorial

Which of the following aspects
of communication is undertaken
in formal as well as non-formal
organizations ?

(A) Instructive
{B} Influencive
(C) Surveillance

(D) Transmission
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AUUURS ua velluulRs

UL /AAS /o Hl auug Jld

HAH U B 7
(A) Guias
(B} yeitel wiscltell axal

(C) tuwdn
(D) yuRel



85. Lecture method can be used
successfully in

85. c2llullel Ugldell usnlyds GuAlat

53| alslal B
(A) ygictell elauaal He
(B) Rgidl dHtaal 1R

(€C) stlugld @wuaal 12
(D) yurRel A aguaal He

(A) Activity centred teaching
(B) Explaining the theories
(C) Teaching processes

(D) Teaching improved practices

86. When students or individuals engage | ge. a® ([QaueRA ¥ cala dUel
in assigned work while teacher .
A . stelul calect 8l wal @Qas wsa
actively observes the work giving
assistance, it is called QA Aot stele] A S0l sl UsLA
(A) Team teaching 53 Aal 56 . séalal
(B) Guided and supervised study (A) UMl eRuad
(C) Field trip (B) v el Hdleglet 3501 weAU
_ (C) ueaud Yy
(D) Committee work D) 1RR st
87. Which of the following countries was | 87. o{lQouniell s €2 Al yauH cdlssclal
the first to formally use folk art as ’
. . AUARS A AAReAl HitaAH 33
medium of communication ?
(A) Indonesia Gualdud  cllell 2
A
(B) Africa (A) goSlalRlau
(B) 55l
(C) Philipines ©) Rellused
(D) Thailand (D) sugAos
88. Making maximum use of available 88. (Asiot U 25alAlY &RL Ylicl

local resources through science and
technology for the benefit of rural
poor is the objective of

wRs Aaeellel aulel okl
cewd HedH GuAL s:elell Gaal
565 Alxollell & ?

(A) ICDS (A) ICDS
(B) ANP (B) ANP

(C) IRDP (C) IRDP
(D) NAEP (D) NAEP

SRR T T
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89.

90.

91.

92.

Which of the following is not a
characteristic of behaviour change
communication ?

{A) Interactive

(B) Tailor made

(C} Action

(D) Non strategic

Which of the following components
is required to make benefits of the
community projects applicable to the
larger section of the society ?

(A) Self help

(B) Participatory

(C) Replicability

(D} Action oriented

Which model of development
stressed on economic growth
through industrialization ?

(A) Basic needs model
(B} Dominant paradigm
(C) Sustainable development model

(D) New development paradigm

Educational opportunities

are provided for professional
advancement and training as well
as in service training for updating
professional skills and knowledge
through

{A) Continuing education

(B) Adult education

{C) University education

(D) Extension education

89. o{lAsuMiel 56 cutal@sdl ddei
ss2ctell Auredl otell 2

(A) wUURY AUR
(B) & 2ottt

(C) vue

(D) cysteHsculdla

90. wntoselt HMat eldtelt cletdl uxe

uReeltal Gld) usal M2

o{lAetniell 54 uzs w3 B 2
(A) reaciolst

(B} ewolleldl

(C) sl

(D) stletell

91. WNOLEQY st WEs gl GuR

[Qstaett s QIAMT @2 ysami

el & ?
(A) yaod ¥3Raud W3

(B) yendl 32812 13
(C) Ausulla /256 det
(D} o ([Asty A3t

cacAtRs Gald uA cdAlelln
Aoy Ac ] delld W2 wWeldet

AdARS sANA AU sliotoll
dsl Aottstl Y3l Wil asia 2

92.

(A) R Baw

(B) JUla Reawl

(€) Quleaicate] @ael
(D} QxR Qlatel

T
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93.

94,

95.

96.

The process of determining to
what extent the objectives of the
development project are achieved, is
called

(A) Project planning
(B) Project management
(C) Project evaluation

(D) Project administration

What should not be evaluated in
development project ?
(A) The process

(B) The resuits of communication
activities

(C) Impactofactivities ondevelopment
initiative

(D) Variation in time taken to change
behaviour

Understanding of linkages and
relationships of different systems in
the community can be studied best
through

{A) Venn diagram
(B) Transect walks
(C) Pie chart

(D) Trend lines

Which of the following approaches
is best suited to construct a check
dam in a village by a development
agency ?

(A} Participatory approach

(B) Target free approach

(C) Top down approach

(D} Selective approach

93.

94.

95.

96.

Qsta Wwseot GRal 32cll oe Yl
slact sl B Q ots8l s2aell ysaua

53 8
(A) Ylwse vllosat
(B) Ul®se cALRUL

(C) Wl%se Yl
(D) Q\@se dulcet

Aty UBseHL 2le] HeRLSst
ol 53¢ WA ?

(A) Wwse ol ylsal

(B) 2z ygmallen ulReuHl
(C) [@Qsta 2ol udctsll Rl

(D) adetii UBadet 12 claa
sl Q@

ayeLaloll €l el ASEl Aat
Aoioll uBa s A wxal He

ol Aatnisll 9 Gudl ue ok ?

(A) Aot BuglAA
(B) gleAs2 clls

(C) wes we
(D) 205 ABRL (dleARRUIB)

oUHHL AU USOLR ol ML
ol Dot uiell 520 W 86 & ?

(A) etlletdl U@

(B) cat 35t @

(C) Guzell 22l ollAslt R dARsell
wifelo

(D) waieall cell wldtom

R
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97. The biggest news agency in India is | 97. ell2dol] dlell 18w deu B

(A) UNI (A) UNI
(B} PTI (B) PTI
(C) PIB (C) PIB
(D} RNI (D} RNI

98. Which of the following is used in | 98. @Rl WRadet M2 Wit NS

medla_bas?d information campaigns A w2 ol Aotinisll 520 W@t
for attitudinal change ?
Gualloll 872

(A) A¥olteig U@L
(B) UHRs IRot wl@ory

(A) Planned strategy
(B) Social marketing approach
(C) Participatory approach

(D) Diffusion of innovation (©) ewletdl u@ony
approach (D) otelletctiott YRR @o1
99. Correlation studies are best for 99, 513lA%IeN WeA 2_1 WLl M2
studying GdH 2 ?
(A} To what extent two variables are () decll ot A el ol B
related (B) & % ct2Aoll Aissifla
(B) Statistical difference in two WA AL QLell HI2
groups (C) PRI ettt QWA Aructol]
(C) Selecting subjects for a control udeol s2al w
group (D) 510 A UAA doi@
(D) Cause and effect relationships LEETEI G
100. Concise summary of the complete 100. ygl ltiot wdalctel @A
research report is called AR A sdele B
(A) Trend analysis (A) ac [&a@u@sl
(B) Abstract (B) Guadeslz
(C) Conclusion (C} [Aesy]
(D) Summary (D) WRAUAY

e
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